

# Compare Responses

Event #: 2048

Event Name: OILS, LUBRICANTS,&  
ANTI-FREEZE

Number Of Lines: 28

Status: Pending Award

	Barrett Oil Distributors JAMES MOORE	Colonial Oil Industries, Inc P Summerline
<b>Performance Evaluation Score</b>		
	(Award All valid only when output is same for all lines)	(Award All valid only when output is same for all lines)
<b>Supplier Total Bid Amount</b>	103,594.20	76,363.95
<b>Total Event Score</b>		
<b>Line 1:Open:103874 Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 1500.0000 GA</b>	1,500.0000	1,500.0000
<b>UnitPrice</b>	9.69000	7.70000
<b>ExtendedPrice</b>	14,535.00	11,550.00
<b>Total Line Score</b>		
<b>Delivery Date</b>		
<b>UOM Detail</b>	GALLON	
<b>Vendor Item</b>	GULF SS 15W40	KENDALL SUPER D-XA 15W40
<b>Vendor Item Description</b>	BULK 15W40	
<b>Line 2:Open:MOTOR OIL 15W40 SEMI-SYNTHETIC Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 1500.0000 GA</b>		

Compare Responses continued...

<b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>		
<b>Line 3:Open:102493 Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 400.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	   0.0000 400.0000 6.69000 2,676.00   GALLON SUNOCO 5/30 BULK 5W30	   0.0000 400.0000 6.59000 2,636.00   KENDALL GT-1 SAE 5W30
<b>Line 4:Open:MOTOR OIL BULK (SAE 5W30) Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 400.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>	   0.0000 400.0000 8.56000 3,424.00	   0.0000

Compare Responses continued...

<b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	GALLON ECO POWER 21AX 53 BULK 5W30	
<b>Line 5:Open:102491 Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 220.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	0.0000 220.0000 9.64000 2,120.80  GALLON GULF SEMISYN 15W40 SEMISYN 15W40	0.0000 220.0000 8.46000 1,861.20  KENDALL SUPER (CJ-4)
<b>Line 6:Open:MOTOR OIL SAE 15W40 SEMISYNTH Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 220.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b>	0.0000 220.0000 8.61000 1,894.20  GALLON	0.0000

Compare Responses continued...

<b>Vendor Item</b>	ECO POWER 21A 15W40	
<b>Vendor Item Description</b>	55 GALLON DRUMS	
<b>Line 7:Open:100412 Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 450.0000 GA</b>	450.0000	450.0000
<b>UnitPrice</b>	13.11000	10.84000
<b>ExtendedPrice</b>	5,899.50	4,878.00
<b>Total Line Score</b>		
<b>Delivery Date</b>		
<b>UOM Detail</b>	GALLON	
<b>Vendor Item</b>	GULF SS 15/40	KENDALL SUPER DXA 15W40
<b>Vendor Item Description</b>	Gulf SS 15/40	
<b>Line 8:Open:OIL MOTOR SAE 15W-40 (CJ-4) Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 450.0000 GA</b>	450.0000	
<b>UnitPrice</b>	16.87000	
<b>ExtendedPrice</b>	7,591.50	
<b>Total Line Score</b>		
<b>Delivery Date</b>		
<b>UOM Detail</b>	GALLON	
<b>Vendor Item</b>	AMERICA'S CHOICE 15W40	
<b>Vendor Item Description</b>	BULK 15W40	

Compare Responses continued...

<b>Line 9:Open:103875 Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 300.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	0.0000 300.0000 7.52000 2,256.00  GALLON SUNOCO 5/30 Sunoco 5/30 MO	0.0000 300.0000 7.56000 2,268.00  KENDALL SUPREME GT-1 5W30
<b>Line 10:Open:MOTOR OIL 5W30 SUPREME BULK Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 300.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	0.0000 300.0000 8.56000 2,568.00  Gallon ECO POWER 21AX 53 5w30	0.0000
<b>Line 11:Open:100413 Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 75.0000 GA</b>	0.0000 75.0000	0.0000 75.0000

Compare Responses continued...

<b>UnitPrice</b>	11.21000	10.09000
<b>ExtendedPrice</b>	840.75	756.75
<b>Total Line Score</b>		
<b>Delivery Date</b>		
<b>UOM Detail</b>	GALLON	
<b>Vendor Item</b>	CHEVRON SUPREME 5W30	KENDALL GT-1 5W30
<b>Vendor Item Description</b>	Chevron Supreme 5/30 MO	
<b>Line 12:Open:OIL MOTOR ASC 5W-30 Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 75.0000 GA</b>	75.0000	
<b>UnitPrice</b>	12.36000	
<b>ExtendedPrice</b>	927.00	
<b>Total Line Score</b>		
<b>Delivery Date</b>		
<b>UOM Detail</b>	GALLON	
<b>Vendor Item</b>	ECO POWER 21AX 53 BEB1	
<b>Vendor Item Description</b>	5w30	
<b>Line 13:Open:102495 Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 1045.0000 GA</b>	1,045.0000	1,045.0000
<b>UnitPrice</b>	7.52000	7.19000
<b>ExtendedPrice</b>	7,858.40	7,513.55
<b>Total Line Score</b>		

Compare Responses continued...

<b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	 gallon SUNOCO 5/20 5w20	  KENDALL GT-1 (55 GAL DRUM)
<b>Line 14:Open:MOTOR OIL SUPREME 5-20 (1/55) Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 1000.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	 0.0000 1,000.0000 9.43000 9,430.00   gallon ECO POWER 21AX 15455	 0.0000        
<b>Line 15:Open:103721 Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 21.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b>	 0.0000 21.0000 8.25000 173.25   GALLON	 0.0000 21.0000 20.00000 420.00   

Compare Responses continued...

Vendor Item Vendor Item Description	ITASCA 702275	CITGO 2 CYCLE (1/2 PINT)
<b>Line 16:Open:102496 Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 400.0000 LB</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	  0.0000 400.0000 1.60000 640.00   LB CHEVRON 85/140 Chevron Univ 85/140	  0.0000 400.0000 1.68000 672.00    CONOCO UNIVERSAL GEAR LUBE
<b>Line 17:Open:102497 Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 3000.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	  0.0000 3,000.0000 6.18000 18,540.00   Gallon CHEVRON RANDO HD 46 BULK AW 46	  0.0000 3,000.0000 5.80000 17,400.00    KENDALL FOUR SEASONS AW46

Compare Responses continued...

<b>Line 18:Open:102498 Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 275.0000 GA</b>	275.0000	275.0000
<b>UnitPrice</b>	6.99000	6.47000
<b>ExtendedPrice</b>	1,922.25	1,779.25
<b>Total Line Score</b>		
<b>Delivery Date</b>		
<b>UOM Detail</b>	GALLON	
<b>Vendor Item</b>	CHEVRON RANDO HD 46	KENDALL FOUR SEASONS AW46 55 GAL
<b>Vendor Item Description</b>		
<b>Line 19:Open:102499 Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 960.0000 LB</b>	960.0000	960.0000
<b>UnitPrice</b>	2.40000	2.00000
<b>ExtendedPrice</b>	2,304.00	1,920.00
<b>Total Line Score</b>		
<b>Delivery Date</b>		
<b>UOM Detail</b>	LB	
<b>Vendor Item</b>	CHEVRON STARPLEX EP2	CONOCO PHILLIPS FAMILY
<b>Vendor Item Description</b>		
<b>Line 20:Open:100415 Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 270.0000 TB</b>	270.0000	270.0000

Compare Responses continued...

<b>UnitPrice</b>	2.25000	2.15000
<b>ExtendedPrice</b>	607.50	580.50
<b>Total Line Score</b>		
<b>Delivery Date</b>		
<b>UOM Detail</b>	TUBES	
<b>Vendor Item</b>	CHEVRON STARPLEX EP2	CONOCO PHILLIPS FAMILY BRANDS
<b>Vendor Item Description</b>		
<b>Line 21:Open:100414 Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 150.0000 GA</b>	150.0000	150.0000
<b>UnitPrice</b>	6.80000	10.31000
<b>ExtendedPrice</b>	1,020.00	1,546.50
<b>Total Line Score</b>		
<b>Delivery Date</b>		
<b>UOM Detail</b>	GALLON	
<b>Vendor Item</b>	SUNOCO ATF	KENDALL CLASSIC 12 QT DEXRON III
<b>Vendor Item Description</b>	ATF	
<b>Line 22:Open:102501 Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 132.0000 GA</b>	132.0000	132.0000
<b>UnitPrice</b>	16.20000	12.50000
<b>ExtendedPrice</b>	2,138.40	1,650.00
<b>Total Line Score</b>		

Compare Responses continued...

<b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	GALLON CHEVRON ATF MERCON V MERCON V	KENDALL MERCON V
<b>Line 23:Open:102502 Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 400.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	0.0000 400.0000 6.80000 2,720.00  GALLON SONOCO ATF BULK ATF BULK	0.0000 400.0000 7.30000 2,920.00  KENDALL CLASSIC (DEXTRON III)
<b>Line 24:Open:103876 Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 55.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b>	0.0000 55.0000 7.49000 411.95  GALLON	0.0000 55.0000 8.62000 474.10

Compare Responses continued...

Vendor Item Vendor Item Description	SONOCO ATF DRUMS ATF DRUM	KENDALL CLASSIC ATF BULK
<b>Line 25:Open:102503 Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 275.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	   0.0000 275.0000 8.28000 2,277.00    GALLON THF 1000 DRUM	   0.0000 275.0000 8.66000 2,381.50     KENDALL HYKEN 052
<b>Line 26:Open:102504 Output: Contract</b> <b>Award Quantity 0.0000</b> <b>Line Quantity 110.0000 GA</b> <b>UnitPrice</b> <b>ExtendedPrice</b> <b>Total Line Score</b>  <b>Delivery Date</b> <b>UOM Detail</b> <b>Vendor Item</b> <b>Vendor Item Description</b>	   0.0000 110.0000 6.97000 766.70    GALLON SONOCO AW 68 DRUM	   0.0000 110.0000 6.47000 711.70     KENDALL FOUR SEASONS AW68

Compare Responses continued...

<b>Line 27:Open:100067 Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 10.0000 DR</b>	10.0000	10.0000
<b>UnitPrice</b>	448.80000	746.25000
<b>ExtendedPrice</b>	4,488.00	7,462.50
<b>Total Line Score</b>		
<b>Delivery Date</b>		
<b>UOM Detail</b>	DRUM	
<b>Vendor Item</b>	CHEVRON DELO ELC 50/50 DRUM	KOST DEFENDAL HDEL COOLANT
<b>Vendor Item Description</b>	ELC 50/50	
<b>Line 28:Open:100066 Output: Contract</b>		
<b>Award Quantity 0.0000</b>	0.0000	0.0000
<b>Line Quantity 10.0000 DR</b>	10.0000	10.0000
<b>UnitPrice</b>	356.40000	498.24000
<b>ExtendedPrice</b>	3,564.00	4,982.40
<b>Total Line Score</b>		
<b>Delivery Date</b>		
<b>UOM Detail</b>	DRUM	
<b>Vendor Item</b>	CHEVRON UNI AF 50/50	KOST DEFENDAL
<b>Vendor Item Description</b>		